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A) 2,6 B)300, 150 C) 10 ,50 D)25,6 
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Q55—. 5 × 11 × 13 + 7 is a 

(a) prime number (b) composite number (c) odd number (d) none 

Q56— 

Which of these numbers always ends with the digit 6. 

(a) 4n (b) 2n (c) 6n (d) 8n 

Q57— 
For a, b (a ≠ b) positive rational numbers (√a + √b) (√a - √b) is a   

(a) Rational number (b) irrational number (c) 0 (d) (√a - √b)2 

Q58— 

If p is a positive rational number which is not a perfect square, then -3 p is 

(a) Integer (b) rational number (c) irrational number (d) none of the 

above. 

Q-59--All decimal numbers are– 

(a) rational numbers (b) irrational numbers (c) real numbers (d) integers 

Q-60 In Euclid Division Lemma, when a = bq + r, where a, b are positive integers which one is 

correct. 

(a) 0 < r ≤ b (b) 0 ≤ r < b (c) 0 < r < b (d) 0 ≤ r ≤ b 
Q-61Which of the following numbers is irrational number 

(a) 3.131131113... (b) 4.46363636... (c) 2.35 (d) b and c both 
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Q-62 HCF is always 

(a) multiple of L.C.M. (b) Factor of L.C.M. 

(c) divisible by L.C.M. (d) a and c both 

Q-63 The product of two consecutive natural numbers is always. 

(a) an even number (b) an odd number 

(c) a prime number (d) none of these 
Q-64 Which of the following is an irrational number between 0 and 1 

(a) 0.11011011... (b) 0.90990999... (c) 1.010110111... (d) 0. 303030.. 
Q-65 pn = (a × 5) n. For pn to end with the digit zero a =    for natural no. n 

(a) any natural number (b) even number (c) odd number (d) none. 

 


